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Suppose African swine fever virus is prevalent among pigs in Country A.

(1) (4%) Use one supply-demand graph and words to analyze the effect of the virus on the pork market in
Country A.

(2) (14%) Suppose Country B has a history of importing pork from Country A, What kind of economic policies
can Country B use to reduce the pork imported from Country A? Use graphs and words to explain these
policies and discuss the economic efficiency of them.

(3) (10%) Suppose the pork market in Countfy BiS"a"pesfectly competitive market. Explain the features of
perfect competition in words. Use anappropriate graph toexplain how the pork suppliers will set the price
they sell and the quantity they produce.

(4) (14%) Suppose the pork market in Country C.is.a monopoly market; and the monopolist faces the following
demand curve: QP = 64 — 4P. The information related to.its cost functions is shown as below:

1
AVC=4+-‘:Q TFC =8

Find the equilihrium quantity. pricesprofit;and producer’s surplus. Draw a clearly-labeled graph to show the

area of producer’s surplus.
(5) (8%) How will this virus affect the Jabor markets in Country A's pork-related industries and other

industries? Use clearly-labeled graphs to expiain:
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